/2

/2

15 tonnes

¢ Carbon

h( Conversations

0.3 tonnes

¢ Carbon

h( Conversations

/2

/2

1.5 tonnes

¢ Carbon

h( Conversations

1.5 tonnes

¢ Carbon

h( Conversations



/2

/2

6 tonnes

"( Carbon
a) Conversations

0.3 tonnes

"( Carbon
a) Conversations

1 tonne

/2

"( Carbon
a) Conversations

0.4 tonnes

"( Carbon
) Conversations
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/2

/2

3 tonnes

¢ Carbon

h( Conversations

1.3 tonnes

¢ Carbon

h( Conversations

/2

/2

2 tonnes

¢ Carbon

h( Conversations

0.5 tonnes

¢ Carbon

h( Conversations



/2

/2

5 tonnes

¢ Carbon

h( Conversations

1.5 tonnes

¢ Carbon

h( Conversations

/2

/2

0.04 tonnes

¢ Carbon

h( Conversations

0.6 tonnes

¢ Carbon

h( Conversations



10 tonnes

35 tonnes

o
(ORY

v
e

o
(ORY

v
e

0.25 tonnes

1.2 tonnes

o
(ORY

v
e

o
(ORY

v
e



UK, per person CO:
emissions each year

N ¢/ Carbon
1N

Conversations

India, per person CO>

emissions each year

N ¢/ Carbon
S

Conversations



Tanzania,
per person CO-
emissions each year

N ¢/ Carbon
S

Conversations

Sustainable, per person
CO2 emissions each

year

N ¢/ Carbon
1N

Conversations



Average CO: emissions
for a UK house each

year

N ¢/ Carbon
S

Conversations

CO: saved each year by
insulating the walls of

an average house

N ¢/ Carbon
1N

Conversations



CO: saved each year by
turning the thermostat
down from 21 -¢c 18 -c

N ¢/ Carbon
S

Conversations

CO: saved each year by
draught-stripping the
walls of an average

house

)Q"( Carbon
4(\ Conversations



CO2 emitted when one
person takes a return
flight to the USA

N ¢/ Carbon
S

Conversations

CO: emitted driving
5,500 miles in an

average car

N ¢/ Carbon
1N

Conversations



CO2 emitted due to one
person going on a 2000

mile cruise

N ¢/ Carbon
S

Conversations

CO: emitted due to one
person travelling 5000
miles by train

N ¢/ Carbon
1N

Conversations



CO: emitted in growing
100 kg of tomatoes in a
heated greenhouse

)Q‘/(Carbon

AN Conversations

CO: emitted in growing
100 kg of tomatoes
outdoors

Conversations

N ¢/ Carbon
1N



CO: emitted providing a
primary school with
meat-based dinners for a

week

)Q"( Carbon
AN Conversations

CO: emitted providing a
primary school with
vege-tarian dinners for a

week

)Q"( Carbon
4(\ Conversations



The embodied CO:2in a
hew Landrover

Discovery

N ¢/ Carbon
S

Conversations

The embodied CO2due
to a £20,000 kitchen refit

Conversations

N ¢/ Carbon
1N



CO:emitted using a
mobile phone one hour
a day for a year

N ¢/ Carbon
S

Conversations

CO:embodied in a
year’s worth of clothing
purchases

N ¢/ Carbon
1N

Conversations






